	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				5,262	cords	
Pulpwood (Total)				5,262		
Saw Timber						
Hardwood				305,325	board feet	
Saw Timber (Total)				305,325		
Total Pulpwood, Chip & Saw,						\$527,477
Saw Timber FOB Mill						
Total Forestry Stumpage						\$194,198
(Total)						
Forestry (Total)						\$527,477
FRUITS						
Citrus						
Navels	*	3.0	210.00	630	bu.	\$12,600
Satsumas	*	2.0	250.00	500	bu.	\$10,000
Other Citrus	*	3.0	175.00	525	bu.	\$9,450
Citrus (Total)		8.0				\$32,050
Fruits (Total)		8.0				\$32,050
HAY FOR SALE						
Grass (Total)	14	4,005.0	2.90	11,614	tons	\$696,840
Hay for Sale (Total)		4,005.0				\$696,840
Home Gardens (Total)	3,470	,				\$902,200
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$4,250,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$20,000
Foliage Plants (Total)	*				acre	\$450,000
Nursery Crops (Total)						\$4,720,000
PECANS						
Improved (Total)	*	3.0	200.00	600	lbs.	\$780
Native (Total)	*	3.0	100.00	300	lbs.	\$270

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Pecans (Total)		6.0				\$1,050
Soybeans (Total)	*	125.0	30.00	3,750	bu.	\$22,163
SUGARCANE						
Raw Sugar (Total)	*	2,099.0	6,099.00	12,801,801	lbs.	\$1,570,781
Molasses (Total)		2,099.0	183.00	384,117	gal.	\$80,665
Sugarcane (Total)		2,099.0				\$1,651,446
SWEET POTATOES						
Fresh (Total)				840		\$12,390
Sweet Potatoes (Total)	*	3.0	280.00	840	bu. (50 lbs.)	\$12,390
VEGETABLES						
Beets (Total)	*	3.5	245.00	857	doz. bunches	\$5,999
Broccoli (Fresh) (Total)	7	12.0	335.00	4,020	cartons (20	\$80,400
					lbs.)	
Cabbage						
Fresh	10	28.0	490.00	13,720	sacks (50 lbs.)	\$123,480
Cabbage (Total)		28.0				\$123,480
Cantaloupe (Total)	7	8.0	155.00	1,240	cartons (40	\$22,320
					lbs.)	
Carrots (Total)	*	2.0	325.00		doz. bunches	\$4,550
Cauliflower (Total)	8	11.0	365.00	4,015	cartons (20	\$80,300
					lbs.)	
Collards						
Fresh	*	4.0	410.00	1,640	doz. bunches	\$11,480
Collards (Total)		4.0				\$11,480
Cucumber						
Fresh	7	7.0	410.00	2,870	bu. (50 lbs.)	\$51,660
Cucumber (Total)		7.0				\$51,660
Eggplant (Total)	11	8.0	560.00	•	bu. (33 lbs.)	\$89,600
Garlic (Total)	*	4.0	2,400.00	9,600	lbs.	\$48,000
Irish Potatoes						
Fresh	*	7.0	175.00	1,225	cwt.	\$42,875

VEGETABLES						
Irish Potatoes (Total)		7.0				\$42,875
Lima Beans						
Fresh	*	1.5	60.00	90	bu. (32 lbs.)	\$3,150
Lima Beans (Total)		1.5				\$3,150
Mirliton (Total)	*	3.0	2,200.00	6,600	lbs.	\$19,800
Mustard (Fresh) (Total)	11	9.0	635.00	5,715	doz. bunches	\$40,005
Okra (Fresh) (Total)	12	19.0	440.00	8,360	bu.	\$250,800
Onions (Total)	*	2.0	60.00	120	bag (50 lbs.)	\$3,600
Green Onions (Total)	8	6.0	710.00	4,260	lbs.	\$12,780
Peppers						
Bell	12	14.0	590.00	8,260	bu. (28 lb.)	\$165,200
Peppers (Total)		14.0				\$165,200
Pumpkin (Fresh) (Total)	*	28.0	100.00	2,800	cwt.	\$70,000
Pumpkin - Cushaw (Total)	*	2.0	170.00	340	cwt.	\$8,500
Shallots (Total)	8	10.0	1,035.00	10,350	doz. bunches	\$72,450
Snap Beans (Fresh) (Total)	*	2.0	100.00	200	bu. (30 lbs.)	\$6,000
Southern Peas (Fresh) (Total)	*	1.0	45.00	45	bu. (24 lbs.)	\$1,125
Spinach (Fresh) (Total)	*	3.0	110.00	330	bu. (25 lbs.)	\$8,250
Squash (Fresh)						
Yellow Squash	12	12.0	205.00	2,460	bu. (45 lbs.)	\$49,200
Zucchini Squash	*	2.0	190.00	380	bu. (45 lbs.)	\$7,600
Winter Squash	*	3.0	95.00	285	bu. (45 lbs.)	\$4,275
Squash (Fresh) (Total)		17.0				\$61,075
Sweet Corn (Fresh) (Total)	*	6.0	720.00	4,320	doz. ears	\$15,120
Tomatoes (Field) (Total)	12	18.0	1,350.00	24,300	lugs (20 lbs.)	\$486,000
Turnips (Fresh) (Total)	6	6.0	520.00	3,120	doz. bunches	\$21,840
Watermelon (Total)	*	11.0	90.00	990	cwt.	\$7,920
Vegetables (Total)		253.0				\$1,814,279
TOTAL ALL PLANT ENTERPRISES						\$10,379,894
	FISHERI	ES & WILD	LIFE ENTERP	RISES PRODUCTION		

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION								
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value			
FRESHWATER FISHERIES								
Freshwater Finfish (Total)	116		160,869	lbs.	\$93,320			

Pid	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
Freshwater Fisheries (Total)						\$93,320
MARINE FISHERIES						
Shrimp (Total)	41			5,868	lbs.	\$12,812
Crabs (Total)	144			3,583,143	lbs.	\$2,287,837
Marine Fisheries (Total)						\$2,300,649
Fur Animals (Total)				437	pelts	\$4,239
Alligators (Wild) (Total)				8,775	ft.	\$263,250
HUNTING LEASES						
Waterfowl (Total)	*	290	No. Acres		acre	\$4,350
			Leased			
All Other Game (Total)	10	4,400	No. Acres		acre	\$30,800
			Leased			
Hunting Leases (Total)						\$35,150
Honey (Total)	*	150	No. Hives	6,825	lbs.	\$4,027
TOTAL ALL FISHERIES & W	ILDLIFE ENTERPRISES					\$2,700,635

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of	Total	Units of	Gross Farm
Allillai	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			45	head	\$23,989
400-500 lbs.			15	head	\$9,077
500-600 lbs.			20	head	\$13,142
600-700 lbs.			20	head	\$14,737
Steer Calves (Total)					\$60,944
Heifer Calves					
300-400 lbs.			265	head	\$123,960
400-500 lbs.			380	head	\$207,885
500-600 lbs.			410	head	\$254,048

CATTLE & CALVES 600-700 lbs.				580	head	\$404,672
Heifer Calves (Total)				360	nead	\$990,565
Yearling Cattle						\$990,303
600-700 lbs.				410	head	\$2,532
700-800 lbs.					head	\$2,670
Yearling Cattle (Total)				400	nead	\$5,202
Cow-Calf Pairs (Total)				265	pair	\$259,469
Cull Cows (Total)				2,005	-	\$794,692
Cull Bulls (Total)				-	head	\$408,342
Cattle & Calves (Total)	25	4.800	No. Cows	440	nead	\$2,519,214
HORSES	23	4,800	No. Cows			\$2,319,214
Brood Mares						
Show Horses	6	18	No. Brood Mares	6	head	\$24,000
Recreation Horses	20		No. Brood Mares		head	\$15,000
Brood Mares (Total)	20	21	110. Blood Marcs	10	nead	\$39,000
Stud Fees						\$37,000
Show Horses		5	No. Stallions	22	mares bred	\$33,000
Recreation Horses			No. Stallions		mares bred	\$10,000
Stud Fees (Total)		·	110. Stafffolis	20	mares orea	\$43,000
Show Horses (Total)	6			23	head	\$115,000
Recreation Horses (Total)	20				head	\$48,000
Horses (Total)	20			32	nead	\$245,000
GOATS						Ψ2-13,000
Show Goats (Total)				12	head	\$2,700
Slaughter Goats (Total)					head	\$1,085
Stocker Goats (Total)					head	\$346
Cull Goats (Total)					head	\$360
Goats (Total)	*	22	No. Does	U	nead	\$4,491
SWINE		22	No. Does			φ τ,τ ,1
Show Pigs (Total)				14	head	\$3,990
Slaughter Hogs (Total)					head	\$2,090
Culls (Total)					head	\$1,008
Swine (Total)	*	6	No. Sows	U	nead	\$7,088
EXOTIC ANIMALS		O	110. DOWS			Ψ1,000
Deer/Antelope (Total)	*	134	No. Animals	105	head	\$13,125
Deci, micrope (Total)		134	1 to, 1 tillingis	103	11044	Ψ13,123

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Exotic Animals (Tota	1)				\$13,125
TOTAL ALL ANIMA	AL ENTERPRISES				\$2,788,919

ST. CHARLES PARISH \$15,869,447